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Introduction 
This exemplar booklet has been created using student responses from the 
summer 2018 exam paper in GCSE History paper 1 - British Thematic Study with 
Historic Environment (1HI0/11) (Medicine). The answers and examiner 
commentaries in this guide can be used to show the application of the mark 
schemes in the GCSE History assessment. 

The exam duration is 1 hour and 15 minutes. The paper is marked out of 52 
marks and is worth 30% of the qualification. The examination paper covers AO1, 
AO2 and AO3.  

The examination paper is divided into Section A (Q1-2b) – Historic Environment 
– and Section B (Q3-5/6) – Thematic Study.  

The structure of the question paper is as follows: 

 

The question papers provided answer spaces to give guidance as to the 
maximum length of response that might be expected (although candidates may 
use more space). Tables and structured spaces are provided for some question 
types (Q1 and Q2b) and stimulus points are provided as prompts on higher-tariff 
questions (Q4 and Q5/6). 

The questions used are 2a, 2b, 5 and 6 from section A and section B. The 
questions exemplify the AO3 source-based questions in Section A and AO2/AO1 
extended writing judgment questions in Section B. 
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Question 2(a): How useful are Sources A and B for an enquiry into the 
treatment of battle injuries by medical staff on the Western Front? 

Explain your answer, using Sources A and B and your knowledge of the historical 
context 
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Mark scheme 
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The question asks for a judgement on the usefulness of the sources for a specific 
enquiry – in this case, an enquiry about the treatment of battle injuries. In order 
to assess the usefulness of a source, the candidate needs to show how the 
content of the source would be used by the historian but also needs to take into 
account how the nature / origin / purpose of the source affects it usefulness.  
Answers also need to be rooted in the context of the historic environment and to 
use contextual knowledge in the evaluation of the source’s usefulness. 

This is a single Assessment Objective but there are three strands within that 
objective. The key to a high-level response is that criteria relevant to an 
evaluation of the specific source (e.g. accuracy, reliability, limitations, 
knowledge of the author, special insights or valuable information) are selected 
and applied with valid reasoning and not simply asserted and that content, 
provenance and context of the sources are considered together. Therefore, for 
Level 3, these strands should be linked; an answer which makes each point 
separately is likely to remain in Level 2. 
 

Additionally, candidates are expected to use their contextual knowledge of the 
period as part of the process of evaluating the sources. Contextual details simply 
offered as information and not linked to the evaluation of the sources, will not be 
rewarded. Similarly, generic source comments which are not linked to source 
evaluation, will not be rewarded. 
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Candidate response to question 2(a) 
Response 1  

 



7 
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Examiner comments 
 
This response was awarded Level 3, 8 marks.  
 
The answer starts with a brief description of the content of Source A but then 
uses its nature and provenance to consider whether the image can be 
accepted at face value. The usefulness of the source content is discussed, with 
own knowledge being used to identify some limitations. The purpose of the 
source is also considered and the way it affects its usefulness, with further 
own knowledge being used. The assessment of Source A is Level 3. 
 
The origin of Source B is seen as making the source content ‘highly useful’ 
because it is thought to be offering a reliable account of specific examples of 
treatment of injuries. Own knowledge of the role of Base Hospitals is used to 
place the source content in context and to discuss treatments available.   
 
The final comment is a weak one as no reason is offered to explain why the 
account should have been changed but the evaluation of Source B has already 
reached Level 3 and therefore a ‘best-fit’ overall mark is 8, since both answers 
are securely in Level 3. 
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Response 2 

 

Examiner comments 
 
This response was awarded Level 2, 4marks.  
 
The comment about the nature of Source A is a general one, that a 
photograph must give an accurate view. The content of the photograph is 
briefly described with the implication that this is useful because it shows what 
a Casualty Clearing Station looked like. The brief reference to other stations 
and the Base Hospital suggests an understanding that there was a range of 
treatment centres and the source might not show a typical situation but this 
was not developed.  
 
This evaluation was low Level 2 as there was an understanding that 
provenance and contextual knowledge affected the usefulness of the source 
content but none of the comments was developed. 
 
The nature of Source B was seen as making the source reliable and there was 
a brief use of source content but the comments about the source content 
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being limited in its usefulness because it does not mention illnesses is not 
relevant to this enquiry about the treatment of battle injuries.  This evaluation 
was Level 2. Since the assessment of each source was Level 2, the overall 
‘best-fit’ mark was 4.  
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Study Source A. 

Question 2b: How could you follow up Source A to find out more about the 
treatment of battle injuries by medical staff on the Western Front? 

In your answer, you must give the question you would ask and the type of 
source you could use. 

Complete the table below. 
 

Mark scheme 

 

The four stages in this question should be seen as a package. The first two 
stages focus on the idea of the candidate acting as an historian following up an 
enquiry. In the first stage, one mark is given for identifying a detail from the 
source relevant to the enquiry. In the second stage, a second mark is given for a 
question arising from that detail but linking it to the broader enquiry – here 
about the treatment of battle injuries. The mark scheme is explicit that the 
question in the second stage must be linked to the detail identified from the 
source, therefore if the first stage is not answered correctly, no mark can be 
given for the second stage, even if a valid question is posed. 

The third and fourth stages ask candidates to offer specific examples of how the 
enquiry should be followed up. They should be able to indicate a valid source to 
consult and to explain how the information located in that source would help to 
answer the question posed in the second stage. Candidates are expected to have 
knowledge of sources appropriate to the historic environment being studied, as 
indicated in the specification.  
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Candidate response to question 2(b) 

Response 1 

 

Examiner comments 
 
This response was awarded 4 marks.  
 
The first stage of the answer identifies a specific detail from Source B. 
A valid question is posed which relates that detail to a wider enquiry about the 
treatment of battle injuries. 
 
The third stage suggests a valid type of source to consult and the final stage 
explains how the information that could be found in these sources would help 
to answer the question posed by the candidate. 
This answer would receive 4 marks. 
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Response 2 

 

Examiner comments 
 
This response was awarded 0 marks. 
 
The answer does not identify a detail from Source A. The question posed in 
stage 2 is a valid one but it is not linked to a detail from the source and, 
therefore, no mark can be given for either of these two answers. 
 
In the third stage, a potentially relevant source is identified, although an 
individual diary or letter would not give a range of details to answer the 
broader enquiry about the treatment of battle injuries. However, the 
explanation of what information could be gained from this source is not linked 
to question that the candidate had posed about the ratio of nurses to soldiers 
(including two questions at the second stage was not helpful – the second 
question was ignored but the explanation was not linked to this question 
either).  
 
Consequently, no marks were awarded for the third and fourth stages and the 
final mark for this answer was 0. 
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Question 5 and 6  
These questions require candidates to analyse material and evaluate it in order 
to make a judgement about the statement in the question. Questions will always 
target at least one of the second order concepts: change, continuity, causation, 
consequence, significance, similarity and difference in relation to change (extent 
of, patterns of, process of, impact of) over a broad period of time. The 
progression in AO2 moves from a ‘simple or generalised answer’ at Level 1, to 
an ‘analytical explanation, which is directed consistently at the conceptual focus 
of the question, showing a line of reasoning that is coherent, sustained and 
logically structured’ at Level 4. 

This analysis needs to be supported by knowledge and understanding, so the 
AO1 assessment moves from ‘limited knowledge and understanding’ at Level 1, 
to ‘accurate and relevant information, which is precisely selected to address the 
question directly, showing wide-ranging knowledge and understanding of the 
required features or characteristics of the period’ at Level 4.   

It should be noted that all 16-mark questions will cover a period of at least 200 
years and, therefore, answers will be expected to demonstrate a breadth of 
knowledge. Answers are also expected to cover three different aspects of 
content. The stimulus points in the question act as an indication of relevant 
material that could be included although candidates are not required to use 
them.  

The wording of the mark scheme for Assessment Objectives 2 and 1 is exactly 
the same as in the mark scheme for the 12-mark question but an additional 
bullet point is included in each level of the 16-mark question to reward the 
element of judgement that is expected. All three bullet point strands are 
rewarded in coming to an overall mark. At Level 1, the judgement is either 
missing or simply asserted but at Level 4, it is made clear how that judgement 
has been reached and the criteria being applied will be valid. 
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Question 5: ‘There was little progress in understanding the cause of disease in 
the years c1250-c1700.’ 

How far do you agree?  Explain your answer. 

You may use the following in your answer: 
 
• the Great Plague in London, 1665 
• Thomas Sydenham 
 
You must also use information of your own 

 

Mark scheme 
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Candidate response to question 5 
Response 1 
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Examiner comments 
 
This response was awarded Level 4, 16 marks. 
 
The introduction indicates the line of argument – that progress in 
understanding the cause of disease was limited but that there was a change in 
attitude - and this is maintained consistently throughout the answer. 
 
The first main paragraph demonstrates the continuity of belief in the idea of 
Four Humours as a cause of disease. The next paragraph shows that there was 
an improvement in understanding of the body, which did lead some people to 
challenge traditional ideas, but that the Renaissance discoveries did not relate 
directly to disease and, therefore, had little impact on understanding the cause 
of disease. The work of Sydenham is discussed as a step towards improved 
understanding but one which again had limited impact. The answer then goes 
on to examine the role of the Church and of government as factors inhibiting 
progress, making reference to the idea that illness was sent by God. 
 
This is an analytical explanation, consistently directed at the focus of the 
question: change and continuity; therefore it is Level 4 for AO2. It also 
includes accurate and wide-ranging knowledge, covering the whole period and 
precisely selected to support the analysis, which is Level 4 for AO1. Several 
aspects of content are covered and a judgement is made, based on showing 
whether new knowledge was relevant to understanding the cause of disease. 
 
This is not a perfect answer – for example, it does not consider the idea that 
disease was caused by miasma – but it has met the Level 4 criteria for each of 
the three strands of the mark scheme and, therefore, received the full 16 
marks.  
 
The spelling, punctuation and grammar are correct and it has also used correct 
specialist terminology, so it received 4 marks for SPaGST. 
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Question 6: ‘The advances in surgery made in the years c1700-c1900 were 
more significant than advances in surgery made in the period c1900-present.’ 

How far do you agree? Explain your answer. 

You may use the following in your answer. 
 
• antiseptics 
• transplants 
 
You must also use information of your own. 

 

Mark scheme 
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Candidate response to question 6 
Response 1 

 



24 
 

 

Examiner comments 
 
This response was awarded Level 2, 7 marks.  
 
There is a general explanation of the significance of antiseptics, supported by a 
brief but accurate reference to Lister and carbolic acid. 
The second paragraph explains the significance of transplants in a general way 
but can offer few specific details. 
 
In both of these, there is some knowledge and understanding of the 
significance of these advances in surgery, meriting a mark for AO2 in Level 2.  
There is specific detail when discussing antiseptics, making the mark Level 2 
for AO1. There is also an attempt to make and explain a judgement, although 
with limited support – again, this is Level 2.   
 
However, the third paragraph, about dissection, is based on the Renaissance 
and is not relevant here. The means that the answer has only covered two 
aspects of content and therefore cannot go beyond a mark of 7 in Level 2. 
 
Spelling and grammar were good, punctuation was reasonably accurate and 
some specialist terms were used – a mark of 3 was awarded. 
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